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T B L S W i
(A) (B) (C) (c)/(A) (C)/(B)

A A A % %
Tk 18 4 20, 796 9,617 3,108 14.9 32.3
(16, 311) (5,132) (1,372) (8.4) (26.7)
Tk 19 4 20, 926 9,026 4,041 19.3 44.8
(18, 220) (6, 320) (2, 695) (14.8) (42.6)
Tk 20 4 21,168 8,463 3,625 17.1 42.8
(19, 736) (7,034) (3,024) (15.3) (43.0)
Tk 21 4 21, 255 6,173 2,229 10.5 36. 1
(20, 443) (5, 361) (1,916) 9.4) (35.7)
TRk 22 4 25, 648 5,512 2,041 8.0 37.0
(25, 147) (5,011) (1,923) (7.6) (38.4)
TR 23 4 23,151 4,632 1,511 6.5 32.6
(22,773) (4, 254) (1,447) (6.4) (34.0)
TR 24 4 17,894 3,542 1,347 7.5 38.0
(17, 609) (3, 257) (1, 301) (7.4) (39.9)
TR 25 4F 13,224 3,277 1,178 8.9 35.9
(13,016) (3,069) (1, 149) (8.8) (37.4)
PR 26 4F 10, 870 2,994 1,102 10.1 36.8
(10, 712) (2, 836) (1,076) (10.0) (37.9)
Rk 27 4R 10, 180 3,086 1,051 10.3 34.1
(10, 050) (2, 956) (1, 030) (10.2) (34.8)
it 185, 112 56, 322 21,233 1.5 37.7
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TR 27 A REE T
IRFARIRETIE, I ARFEM195%, k207 A

FE2) Fh () NOMEIE, 1PH 2 KRR AKESEOMERRRZ L LABEZRONE L0 TH Y | Uikl 0 mARR
;ﬁ%ﬁpﬁ? gﬁ\ AR ST % 45 0 F1E SRR B (2 2 2 FAE SRR S0 bR I ONC R A A 7 25 0 S AGRBR S b 7
EHFLIEbO,

(3) F

T,63TNE7o>TNHED

CRRTAE ORI 13, 5 1 A GBI I5 1) 2 FR I 237, 207 A 55 T 23RBS 35 1) 2 i H 2
S0 B TEL, BUROWIIIC OS2 Lo BE 24958 LTI LIZ b o,

(%) i FOE2UGRBAE SR
g | WO owom o E o % B # —
(A) (B) (C) (C)./(A) (C)./(B)
A A A % %
TR T AR 10, 414 3,027 722 6.9 23.9
Sk 8 4R 10, 183 3,017 672 6.6 22.3
TR 9 4F 10, 033 3,147 673 6.7 21.4
TR 10 4F 10, 006 3,395 672 6.7 19.8
TRk 11 4 10, 265 3,320 786 7.7 23.7
FRE 12 4R 11,058 3,381 838 7.6 24.8
Tk 13 4 12,073 3,336 961 8.0 28.8
TRk 14 4R 13,389 3,414 1,148 8.6 33.6
TRk 15 4 14,978 3,404 1,262 8.4 37.1
Rk 16 4R 16,310 3,278 1,378 8.4 42.0
TRk 17 4 15,322 3, 548 1,308 8.5 36.9
it 134, 031 36, 267 10, 420 7.8 28.7
(FE1) 55 2 KRB AR R O & 72 o 1 T 7 4R DR O 4k L
(FE2) W24 BRI T4 £ CORE
FAFEARIE (A) 1 321,680 A, #f6# (C) 24,430, BF6FE (C) / (A) :7.6%




2. A

w gy | EEmRmE B e % i amh
(A) B) (C) (c)/(A) | (C)/(B)

A A A % % %
205K AT 127 23 11 8.7 47.8 1.0
2075% LA L2578 AT 3,010 837 445 14.8 53. 2 42.3
257% LA L3078 AT 2, 560 895 308 12.0 34.4 29.3
305 LA b 3578 AT 1,901 606 159 8.4 26. 2 15.1
35m% LA 407 A i 1, 060 317 77 7.3 24.3 7.3
405 LA L ABTE A i 647 192 33 5.1 17.2 3.1
455% LA_E 507 A 355 90 8 2.3 8.9 0.8
507% LA _F557% ATl 234 52 2 0.9 3.8 0.2
55i% LA 607 AT 121 36 5 4.1 13.9 0.5
605% LA _E 655 A i 77 16 1 1.3 6.3 0.1
6575 LA 1 88 22 2 2.3 9.1 0.2
i 10, 180 3, 086 1,051 10.3 34.1 100. 0

(7E) FRR2TAE1LA 13 H R OERIZ L D H 0D,




3. FRBIGHAEH

e g | EEmbmE B e w o G ff % g
(A) (B) (C) (C)/(A) | (C)/(B)

A A A % % %

RK¥ b ET 645 214 42 6.5 19.6 4.0
i ZZ ?ﬁ Eg H?L 930 600 75 8.1 12.5 7.1
K% Bt 1E % 92 18 8 8.7 44. 4 0.8
i ;t é fg iif 154 63 29 18. 8 46.0 2.8
ji(@;i gé@)% 5,001 1, 400 498 10.0 35.6 47. 4
jt(%;j( é@@? 2,219 541 307 13.8 56. 7 29. 2
moOB R E 853 165 57 6.7 34.5 5.4
% D fth, 286 85 35 12.2 41.2 3.3
S 10, 180 3, 086 1,051 10. 3 34.1 100. 0

1) %\I B, FBAEOWTIUCHEZE AR LzZRE I o0 TiE, F ORI 5 HFEREO R IC -5 <
N e
(FE2) KRB MET . RELVERO 23] 1213, RIAFEEE T,



- TEERI AR

P 1 IR gt % ol
(A) (B) (C) (C)/(A) | (C)/(B)

A A A % % %
= B & #f 109 107 16 14.7 15. 0 1.5
R EFEB A 456 143 48 10.5 33.6 4.6
i B =+ 78 29 6 7.7 20. 7 0.6
&= s B 2, 046 437 94 4.6 21.5 8.9
N % g 322 82 20 6.2 24. 4 1.9
# = 45 16 2 4.4 12.5 0.2
BE - FEEE 55 14 2 3.6 14.3 0.2
gE 4 3,122 852 438 14.0 51.4 41.7
Eééggx% 4 1,812 813 280 15.5 34.4 26. 6
e Ik 1,874 503 137 7.3 27. 2 13.0
z D filu 261 90 8 3.1 8.9 0.8
i 10, 180 3, 086 1,051 10.3 34.1 100. 0

(GB) F1E, FUEOWFIICHEEZEE L-ZBRFIZOVTE, FUEICRT 2 HEEOREIZESSKYICE D,




5. MERBIEHE T

w o |mmmmE | B oS e omow & f ¥ g h
(A) (B) (C) (C)/(A) | (C)/(B)

A A N % % %
b E 196 46 16 8.2 34.8 1.5
W it 255 54 12 4.7 22. 2 1.1
£ H 6, 271 1,909 647 10.3 33.9 61.6
It a2 120 50 13 10. 8 26.0 1.2
w 11 559 183 68 12.2 37.2 6.5
Sliy % 1, 868 618 217 11.6 35. 1 20. 6
t 170 52 13 7.6 25.0 1.2
Ll 122 22 12 9.8 54.5 1.1
L N 84 21 6 7.1 28.6 0.6
& fi] 491 120 45 9.2 37.5 4.3
i i 44 11 2 4.5 18.2 0.2
& & 10, 180 3, 086 1,051 10. 3 34. 1 100. 0




